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HPE_CIE02-Zapfen-Empfindlichkeit  Ysum=100
m−02,s(λ)=B21x

−
02,s(λ)+B22y

−
02,s(λ)+B23z

−
02,s(λ)

B2j −0,2298 1,1834 0,0464λ=540
P60:Σm−02,s(λ)=100,88

x02,s=0,3217
y02,s=0,3315
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HPE_CIE02-Zapfen-Empfindlichkeit  Ysum=100
m−02,s(λ)=B21x

−
02,s(λ)+B22y

−
02,s(λ)+B23z

−
02,s(λ)

B2j −0,2298 1,1834 0,0464λ=540
P55:Σm−02,s(λ)=100,39

x02,s=0,3321
y02,s=0,3407
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HPE_CIE02-Zapfen-Empfindlichkeit  Ysum=100
m−02,s(λ)=B21x

−
02,s(λ)+B22y

−
02,s(λ)+B23z

−
02,s(λ)

B2j −0,2298 1,1834 0,0464λ=540
P50:Σm−02,s(λ)=99,80

x02,s=0,3447
y02,s=0,3513
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HPE_CIE02-Zapfen-Empfindlichkeit  Ysum=100
m−02,s(λ)=B21x

−
02,s(λ)+B22y

−
02,s(λ)+B23z

−
02,s(λ)

B2j −0,2298 1,1834 0,0464λ=540
P45:Σm−02,s(λ)=99,07

x02,s=0,3603
y02,s=0,3632
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HPE_CIE02-Zapfen-Empfindlichkeit  Ysum=100
m−02,s(λ)=B21x

−
02,s(λ)+B22y

−
02,s(λ)+B23z

−
02,s(λ)

B2j −0,2298 1,1834 0,0464λ=540
P40:Σm−02,s(λ)=98,14

x02,s=0,3799
y02,s=0,3764
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HPE_CIE02-Zapfen-Empfindlichkeit  Ysum=100
m−02,s(λ)=B21x

−
02,s(λ)+B22y

−
02,s(λ)+B23z

−
02,s(λ)

B2j −0,2298 1,1834 0,0464λ=540
P35:Σm−02,s(λ)=96,94

x02,s=0,4047
y02,s=0,3904
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HPE_CIE02-Zapfen-Empfindlichkeit  Ysum=100
m−02,s(λ)=B21x

−
02,s(λ)+B22y

−
02,s(λ)+B23z

−
02,s(λ)

B2j −0,2298 1,1834 0,0464λ=540
P30:Σm−02,s(λ)=95,34

x02,s=0,4363
y02,s=0,4038
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HPE_CIE02-Zapfen-Empfindlichkeit  Ysum=100
m−02,s(λ)=B21x

−
02,s(λ)+B22y

−
02,s(λ)+B23z

−
02,s(λ)

B2j −0,2298 1,1834 0,0464λ=540
P25:Σm−02,s(λ)=93,10

x02,s=0,4763
y02,s=0,4135


